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4 2385 3 vorsgs |2 SFVORPEL esmpun
BUEA 2% 28% 0% 0%
% HA 73% 27% 0% 0%

4 2385 3 vorsEs |2 OFORPEL ssmpun
BUER 66% 34% 0% 0%
% HA 1% 23% 0% 0%

4 2385 3 voesms |2 BFIORPE L asmpun
BUEA 48% 52% 0% 0%
% HA 62% 38% 0% 0%
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4 2385 3 voesEs |2 BFIORDE L asmpnn
EOE: 79% 17% 3% 0%
% HA 73% 27% 0% 0%
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4 385 s vorsgs |2 SFORPEL esmpun
HIHA 79% 21% 0% 0%
%A 76% 20% 4% 0%
4 2585 3 vorsgs |2 SFORPEL esmpun
BUER 6% 24% 0% 0%
% HA 73% 27% 0% 0%
4 2385 3 voesms |2 BFIORPE L asmpnn
EOE: 71% 29% 0% 0%
% HA 76% 24% 0% 0%
4 2385 3 voesms |2 BFIORPE L asmpnn
AR 76% 24% 0% 0%
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4 2385 3 voesms |2 BFIORDE L asmpnn
EOE: 50% 46% 4% 0%
% HA 43% 57% 0% 0%
4 2385 3 vwesms |2 BFIORPE L asmpun
EOEE 42% 54% 4% 0%
% HA 61% 39% 0% 0%
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4 2385 s vor3Es | 1 T3BbAL
EOE: 43% 57% 0% 0%
% HA 56% 36% 8% 0%

4 2385 s vorsEs |2 OFVORPEL ssmpun
BUER 48% 41% 11% 0%
% HA 57% 39% 4% 0%

4 2385 3 voesms |2 BFIORPE L asmpun
BUEA 71% 29% 0% 0%
% HA 70% 30% 0% 0%




s vorsgs |2 SFORPEL ssmpun
BIHA 52% 7% 0%
% HA 43% 0% 0%
3 vorsEs |2 OFORPEL ssmpun
BIHA 17% 0% 0%
% HA 15% 4% 0%
3 voesEs |2 BFIORDE L asmpnn
BIHEA 31% 0% 0%
% HA 35% 0% 0%
3 voesms |2 BFIORPE L asmpnn
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AIHA 69% 28% 3% 0%
= 77% 23% 0% 0%
4 %585 3 voesms |2 BFIORPE L esmpnn
HIHA 76% 21% 0% 3%
% HA 81% 19% 0% 0%
4 2585 3 voesms |2 BFIORPE L esmpnn
HIHA 74% 22% 0% 4%
% HA 75% 25% 0% 0%
4 2385 s vorsgs |2 OFVORPEL esmpun
AIHA 72% 28% 0% 0%




%A 69% 31% 0% 0%
4 385 3 vorsgs |2 SFIORPEL esmpun

EOE: 37% 59% 4% 0%

% HA 42% 54% 4% 0%




